14.01.21 Maths

Long multiplication.
To complete these calculations you need to use the longer method of multiplication we learnt when multiplying by a single digit. It is important that you complete these calculations neatly with each digit in its own square and all space value columns are aligned correctly. First you multiply the top number by the number in the ones column in the bottom. So question A1 below shows 16x15.

Step 1: Partition the bottom number in to 10s and 1s.  So for this calculation we will think of 16x5 and 6x10.

Step 2: complete 16x5. 6x5 = 30, so write the 0 in the 1’s column and carry the 3 (neatly and in small writing) in to the 10s column.

Step 3: complete 5x10. This =5 tens (50), add our 3 tens and we have 8 tens. Altogether we have 80. The 0 in the ones column from the previous calculation.

Step 4: We are now multiplying by 10s, so write a 0 in the ones column to remind you of the place value and multiply 16 by 1. The total is 160.

Step 5: Add both the multiplications together to get your total. 240.

Just ask if you’ve any questions. My email is hhorsford@charing.kent.sch.uk or join one of the teams sessions. 10.10 – 11.10 or 12.45 – 1.45 to chat to me.

Good luck!
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Challenges
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A

33
67

35

335 (67%5)
20,10 (67 30)
2345 (Total)

Copy and complete.

Q@ 1

x 15

Work out

O 18x13
0 24x16
@ 32x19
© 26x14

(16 X 5)
(16 X 10)

(28 X 7)
(28 X 10)

(25 x 4)
(25 x 20)

(47 X 6)
(47 X 20)

4 7

159

1272 (159 x8)
3,1,8 0 (159 X 20)
4452 (Total)
1

Copy and complete.
(1) 68
X 45
(68 X 5)
(68 x 40)
© 8
X 29
(238 X 9)
(238 x 20)
Work out

©s9x23 @ 236x16
O 5x28 @ 385x24

@ 48x36 ® 248x27
Os6x42 @137x38
©37x37 @ 329%26
@sax2s @ 164x43

@ 6 7 8 9

Using each of the above

numbers once only to make

two 2-digit numbers, find:

a) the largest possible
product

b) the smallest possible
product.

C

Work out

@ 152917
© 3648 x 23
© 2392x18
© 1728 x 39

© 1475 x 46
0O 2936 x 54
@ 1584 x 28
© 2768 x 32

© 237x185
@ 384 x 247
@ 176 x135
@ 249 x 164

@ 465 x 408
@ 308 %152
® 257 x 217
@ 579 x 249

@ 123456

Using each of the

above numbers

once only to

make two 3-digit

numbers, find:

a) the largest
possible product

b) the smallest
possible product.
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Tommy says,

It is not possible to
make 999 by
multiplying two 2-digit

numbers.
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Do you agree?
Explain your answer.




image3.png
Amir has multiplied 47 by 36
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Alex says,

=S Amir is wrong because
@ the answer should be
1,692 not 323

Who is correct?
What mistake has been made?




